

Hany Franklyn Othman

16164031009

Chemical Engineering

610382

$$y = e^{x^2} + x$$

$$y' = (2x+1)e^{x^2} + x$$

$$\text{where } u = 2x+1$$

$$v = e^{x^2} + x$$

$$dy/dx = 2 \quad dy/dx = (2x+1)e^{x^2} + x$$

$$y'' = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$y'' = (2x+1)(2x+1)e^{x^2} + x + e^{x^2} + x(2)$$

$$y'' = y'(2x+1) + 2y$$

$$\text{Leibniz's method: } y'' - y'(2x+1) - 2y = 0$$

$$y'' = (2x+1)y' + 2y$$

$$u = y^m \quad v = (2x+1) \quad w = (2u^m)v = y^{m+2}$$

$$w = y'(2x+1) \quad v = 2x+1$$

$$u = y'$$

$$v' = 2$$

$$u' = y''$$

$$v'' = (2x+1)v' + v(2x+1)'$$

$$v'' = 0$$

$$= u'v + u v''$$

$$= y''(2x+1) + 2y'$$

$$w_3 = 2y$$

$$u = y$$

$$u' = y' \quad v = 2, v' = 0$$

$$w_3 = 2^n (u^{n+1} - 0v)$$

$$= 2y^n$$

$$y^n - y'(2x+1) - 2y = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2ny^n - 2y^n = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2y^n(n+1) = 0$$

$$y^{n+2} = y^{n+1}(2x+1) + 2y^n(n+1)$$

2

$$y = x^3 e^{4x}$$

$$V^0 = x^3, V^1 = 3x^2, V^2 = 6x, V^3 = 6$$

$$u = e^{4x}, u' = 4e^{4x}, u'' = 16e^{4x}, u''' = 64e^{4x}$$

$$u^n = 4^n e^{4x}$$

$$y^n = \frac{n(n-1)(n-2)}{3!} (u^{n-3} V^3) + \frac{n(n-1)(n-2)}{2!} (u^{n-2} V^2) + \frac{n(n-1)(n-2)}{1!} (u^{n-1} V^1) + \frac{n(n-1)(n-2)}{0!} (u^n V^0)$$

$$y''' = \frac{4^{n-3} e^{4x}}{3 \times 2} x^3 + \frac{n \cdot 4^{n-1} e^{4x}}{3 \times 2} 3x^2 + \frac{n(n-1) 4^{n-2} e^{4x}}{2} 3x + \frac{n(n-1)(n-2) 4^{n-3} e^{4x}}{2}$$

$$4^{n-3} e^{4x} \cdot 64$$

$$= 4^{n-3} e^{4x} x^3 + \frac{n \cdot 4^{n-1} e^{4x}}{3 \times 2} 3x^2 + \frac{n(n-1) 4^{n-2} e^{4x}}{2} 3x + \frac{n(n-1)(n-2) 4^{n-3} e^{4x}}{2}$$

$$= 4^{n-3} e^{4x} [4^3 x^3 + n \cdot 4^2 \cdot 3x^2 + n(n-1) 4 \cdot 3x + n(n-1)(n-2)]$$

$$= 4^{n-3} e^{4x} [64x^3 + n \cdot 48x^2 + 12(n-1)x + n(n-1)(n-2)]$$

$$y^3 = 4^{5-3} e^{4x} [64x^3 + (5 \times 48)x^2 + 12 \times 5(5-1)x + 5(5-1)(5-2)]$$

$$y^3 = 16e^{4x} [64x^3 + 240x^2 + 240x + 60]$$

$$u \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$w' = x^2 y''$$

$$u^0 = v = y'$$

$$v' = y''' \quad u^1 = y''$$

$$u^n = y^{n+2}$$

$$w_2 = x y'$$

$$u^0 = u = y'$$

$$u^1 = y'' \quad u^2 = y'''$$

$$u^3 = y^{(4)}$$

$$v = x$$

$$v' = 1$$

$$v'' = 0$$

$$u^n = y^{n+1}$$

$$w_1 = y$$

$$u = y$$

$$u' = y', u'' = y''$$

$$u^n = y^n$$

$$v = 1, v' = 0$$

$$\begin{aligned} w_1^n &= 1^n (C_0 u^{n-0} v^0 + C_1 u^{n-1} v^1 + C_2 u^{n-2} v^2) \\ &= u^n y + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' \\ &= y^{n+2} v + n y^{n+1} \cdot 2! \\ &= y^{n+2} v + n y^{n+1} \frac{2x + n(n-1)}{x} y^x \end{aligned}$$

$$\begin{aligned} &= y^{n+2} v + n y^{n+1} 2x + (n-1)n y^n \\ &= y^n (y^2 x^2 + n y^2 + n(n-1)) \end{aligned}$$

$$w_2^n = C_0 u^{n-0} v^0 + C_1 u^{n-1} v^1 + C_2 u^{n-2} v^2 + C_3 u^{n-3} v^3$$

$$\begin{aligned} &= u^n v^0 - 1 n u^{n-1} v^1 + \frac{(n-1)n}{2!} u^{n-2} v^2 \\ &= y^{n+1} x + n y^{n-1} + 0 \end{aligned}$$

$$\begin{aligned} w_3^n &= C_0 u^{n-0} v^0 + C_1 u^{n-1} v^1 \\ &= u^n v^0 + 0 \\ &= y^n \end{aligned}$$

$$x^2 y'' + x y' + y = 0$$

$$w_1 + w_2 + w_3 = 0$$

$$y^n (y^2 x^2 + n^2 x y + n(n-1)) + y^n (x y + n) + y^n = 0$$

at $x=0$

$$y^n n(n-1) + y^n n + y^n = 0$$

$$n(n-1) + n + 1 = 0$$

$$y^n = -y^{n-1} - n y^n$$

at $n=1$

$$y = -0 - y'$$

$$y = -y'$$

$$\begin{aligned} &= x^2 y^{n+2} + n^2 x y^{n+1} + n(n-1) y^n + x y^{n+1} + n y^n + y^n = 0 \\ &= x^{1-n+2} + x y^{n+1} (2n+1) y^n (n^2 - n + n + 1) = 0 \\ &= x^{1-n+2} + (2n+1) x y^{n+1} + (n^2+1) y^n = 0 \end{aligned}$$